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QUESTION 1

In a Nutanix cluster, a Protection Domain contains 50 entities that are replicated to a remote Single Node Replication
Target. The current schedule configuration is as follows: Repeat every 6 hours Local Retention Policy 1 Remote
Retention Policy 8 Starting time 12 am 

At 8 am on Monday, the administrator discovers that a protected VM is corrupted. The latest good state was Sunday 2
pm. The administrator needs to maintain current protection. 

Which strategy should the administrator use to meet these requirements? 

A. From the Remote site, activate the Protection Domain, then re-protect the entity. 

B. From the Remote site, restore the VM from the local snapshot by selecting the correct snapshot. 

C. From the local site, retrieve the correct remote snapshot, then restore the VM locally. 

D. From the local site, restore the VM from the local snapshot by selecting the correct snapshot. 

Correct Answer: C 

 

 

QUESTION 2

An administrator receives an error indicating that the CVMs in the cluster are not syncing to any NTP servers. An
investigation of the issue finds: The NTP servers are configured in Prism The time on all CVMs is the same Both the
CVMs and AHV hosts are configured for the UTC time zone 

Which two steps can be taken to troubleshoot this issue? (Choose two.) 

A. Confirm that the NTP servers are reachable from the CVMs. 

B. Restart genesis on all CVMs. 

C. On a CVM. run the command a Hash ntpq -pn. 

D. Restart the chronos service on all CVMs. 

Correct Answer: AC 

 

 

QUESTION 3

Refer to the exhibit. 
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What is the purpose of eth2 on the CVMs? 

A. RDMA Network Segmentation 

B. iSCSI connectivity 

C. Remote site connectivity 

D. Network Segmentation 

Correct Answer: D 

 

QUESTION 4

A customer has NearSync configured. When the administrator tries to restore a snapshot from 3 minutes ago, it is not
available. The snapshots are happening at 15-minute intervals instead of at the 5-minute configured interval. When the
protection domain was initially set up, the snapshots were happening at the expected 5-minute interval. 

What should the customer do to enable the snapshots to happen at the expected interval? 

A. Utilize Metro Availability to meet this requirement 

B. Change the protection domain to use Async DR 

C. Fix a connectivity issue because the protection domain reverted to Async 

D. Configure the protection domain to take snapshots on 15-minute intervals 

Correct Answer: C 
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QUESTION 5

An administrator needs to migrate workloads from a Nutanix cluster running VMware ESXi to Nutanix AHV. The
migration process needs to be completed in multiple VM groups and support roll back in case any problems are found
during user acceptance testing. 

Which action should the administrator perform? 

A. Use Cross Hypervisor DR to replicate VMs from ESXi to AHV 

B. Use VMware Converter 

C. Use Nutanix one-click cluster conversion from ESXi to AHV 

D. Use storage live migration 

Correct Answer: C 
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